


Optimistic......... Sure you need more hands ......




Not Practical




Too practical




Consequence can be ......




We are missing something from all these pictures




We have these

Please don’t live your car here
let some one use it you are not using.



Why this approach is failed:




Problem




we can’t use these machines , they are occupied




What about these ones ..

No occupied + Available + Idle
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Occupied but not used ................ May be you gave up. but your machine is able to get

some thing to do as they are not as lazy as we are. Lets called them Idle Machine .



Who are already using this idle resources




Our contribution/Approach in this research field :




What we have for Parallelization :

We try to keep all the available cores busy to ensure full
parallelization in instruction stream.

Implementation level will execute event/core:
*Events size of 30-35 k
*Recorded in 2 GB files
* The first stage reconstruction
*Takes 1-2s per event



Basic Flow
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Basic structure of BOINC

Interaction between client and server

Project servers
Your PC 1) get instructions |
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6) Report Result
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Technical/Scientific benefit of CernVM:




Where we want to be!

Where all the available resource is being used and it would not effect us much if any of
them is not performing as it will be a large collaborated resource sharing



Where we can exercise this method




Conclusion :




My Comment :”lets Science Use it, when you don’t”




